
Headlight Assembly



Headlight Assembly
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
1088771-NLA NLA - Head Light Assembly - Lynx LX3/ LX3 Plus/

Panther LX4
1 11

1088772-NLA NLA - Head Light Assembly - Panther MX4 1 11
1088773-NLA NLA - Bulbs, Head Light - Lynx LX3/ LX3 Plus and

Panther LX4
2 12

1091868-NLA NLA - Bulbs, Head Light - Panther MX4 2 12
1088735-NLA NLA - Head Light Hardware - Lynx LX3/ LX3 Plus 

Includes: 1 each Plate
               2 each Bolt, (M6 x 1.0 x 35)
               2 each Nut, Self-Lock (6 x 10 x 8)

1 1A

1091144-NLA NLA - Head Light Hardware - Panther MX4
Incudes: 1 each Screw (M4 x 0.7 x 15)
               1 each Washer, Spring (4 x 7 x 1.25)
               3 each Washer (4 x 12 x 0.8)
              1 each Screw (M4 x 0.7 x 80)
              2 each Washer (6 x 18 x 1.6)
              2 each Washer, Spring (6 x 10)
              2 each Screw, Nylock (M6 x 1.0 x 16)

1 1A

A - Not Shown NOTE:
 


